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22. a) Given that x = 3 and y=4. Find the _
value of ———-‘!;); i'yz =) uati " the line as
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a) Find the an-gle' sector for sports day
s (2mks)

b) How much does he spend on MDD if the

total collection is shs. 480,000/= |
: 5000/ = per tablet

- expenditure. (4mks)
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Express the MONeY planned for assemb
C) " reentage of the total collection.
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b) Measure angle.

31. The GCF and the
are 6 and 72 resp

32, In the diagram below, jine 5

. Q and \ine
RS are paraliel to each other T1 r_.hT‘%
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a) Find the value x in degrees.

'b) Calculate angle QTU.
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